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AREF AR BalERT
1.69m+0.39m
5K BEEHT BETERT
1.19m
(B6+B7)/2 X H9 X L1
R+ & DEd SETIEET
20%o (B6+B3)/2 X H11 x (L7+0.1) |{(0.908+1.164)/2 X 0.426} x 2.37+(0.908+1.398)/2 X 0.816 X (1.00+0.1) 2.08
EHERF I ERLT BitansT _
1.00m PEHIT-F4E T8RRI /09 (3.43-(0.59+2.08)/0.9 0.46
AEFEHTHYh AsSHEEGIT T
1:815m (L2- B i) x 2
R{TEERLS FAI7ILE
V (H3%+L.3%) V7 (0.62572+3.72°2)=3.7Tm SERBUET | (394 B2) 2 x (L2-BLEE)
¥+ TARE AR IEHS
AsFRAiL5 T m
H2+L5 X 1.29+3.27 X 20%0=1.36m (BI+B2),2 X H6 x (L2-B-2512)
¥ £ T 548 Al iRH5
BEEET
(H2+H4)/2 (1.29+1.36)/2=1.33m
=®ET
(B9+B2).2 X (L2-82Z8)
LrERRAEET
(B8+B9)/2 x (H7-H6) x (L1-W1)
TRERET
(B7+B8)/2 X (H8-H7) x L1
BREET m
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= b i E E 5 1/2 [ (B#E)|(8& )| ¢p200 |48 B |4 B| ¢200 ¢ 150 < g $100| ¢ 100 | 100 | @10
No. No. No. m m m m 48 48 {& # | & m m m m {El ZN ZN #H
612-2 | 612-2-1 | 612-2-2 X&E D 300 100 012 o045|F 1 1 0.62 0.90 0.90
612-2 | 612-2-1 | 612-2-2 R#E @ 300 100 042 o045|%& 1 1 1.02 1.30 1.30 1 2
612-2 | 612-2-1 | 612-2-2 RE @ 300 100 012 o045|F 1 1 0.82 1.10 1.10 1 2
612-2 | 612-2-1 | 612-2-2 R#E ® 300 100 042 o045|%& 1 1 1.02 1.30 1.30 1 2
612-2 | 612-2-1 | 612-2-2 RE @ 300 100 012 o045|F 1 1 0.92 1.20 1.20 1 2
612-2 | 612-2-2 | 612-2-3 RE @ 400 100| 012 o045|FH 1 1 0.92 1.20 1.20 1 2
612-2 | 612-2-3 | 612-2-4 R#E © 162 1.00| 042 045|%H 1 1 1.02 1.30 1.30 1 2
612-2 | 612-2-3 | 612-2-4 R @ @ 162 1.00| 042 045|%H 1 1 1.02 1.30 1.30 1 2
612-2 | 612-2-3 | 612-2-4 RE @ 162 1.00| 042 045|%H 1 1 1.02 1.30 1.30 1 2
612-2 | 612-2-4 | 612-2-5 RE @ 162 1.00| 042 045|%H 1 1 1.02 1.30 1.30 1 2
612-2 | 612-2-4 | 612-2-5 RE © 438 100| 012 o045|& 1 1 0.62 0.90 0.90 1 2
612-2 | 612-2-4 | 612-2-5 RE @ 162 1.00| 042 045|%H 1 1 1.02 1.30 1.30 1 2
612-2 | 612-2-4 | 612-2-5 R#E ® 518 1.00| 012 045|% 1 1 0.82 1.10 1.10 1 2

%
& 2
B a4 13&Fr 36.66| 13.00 3.66 5.85 13 13 11.86 15.50 15.50 12 24

) 282 100 028 045 0.91 1.19 1.19
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